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Group Id : 20996311
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Break time: 0
Group Marks : 200
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Analytical Ability
Section Id : 20996331
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 45
Number of Questions to be attempted : 45
Section Marks : 75
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0

Sub-Section Number :



Sub-Section Id : 209963231
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632081 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (1 to 20)

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS

Note:  In questions numbered from 1 to 20, a question 1s followed by data i the form
of two statements labelled as (I) and (II). You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the data
make an appropriate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) if the statement (I) alone 1s sufficient to answer the question.

(b) Mark choice (2) if the statement (IT) alone 15 sufficient to answer the question.

(¢) Mark choice (3) if both the statements (I} and (II) are sufficient to answer the
question but nerther statement alone 1s not sufficient.

(d) Mark choice (4) if both the statements (I) and (II) together are not sufficient to

answer the question and additional data are required.
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Sub questions



Question Number : 1 Question Id : 2099632082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DUDS

What 1s the positive value of ab?

ab c?mézI csmjéeﬁ QLD )oed ?

Options :

1.%1

Question Number : 2 Question Id : 2099632083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS

What is the number of elements i the set (A - B) U (B - 4) ?
3 (A~ B) U (B - 4) & durose oz dod ?

(I) ~ The number of elements m 4 n B¢ 15 10
ANBC 8 durose o3 10

(IT) The number of elements m B 15 15.

B &) dirose 203 15.

Options:

Question Number : 3 Question Id : 2099632084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



Let A and B be any two non empty disjoint sets. What 1 the value of n(B) ?

A, Bow ot %w?ﬁééd 0508 Rah 0L BONAY), 1(B) Devs) dod?

0 n(AnB)=10
) n((4u)-(AnB))

15

Options:

Question Number : 4 Question Id : 2099632085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DUDS



What 15 the volume of the cone?

69 3090a)) 200 OPEI0 ois 7

(I)  The cone’s surface area 1s 2210 sq. cm.

% 3020R) o8], w8) B aFef0 2210 5,200,

(I)  The cone and cylinder have same height and radms.

% 3030iY), 0 00 &8 I, TR B & .

Options :

Question Number : 5 Question Id : 2099632086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency Ggro? DUDS



Let P(x) be a polynomial. Is (x + 1) a factor of (2" + x4 8)?

P(x) &30 8 wirund eowd, P(2xt + 1 +8) 8% (x +1) 28 Sdepodo
0900) 000 ?

() (x=9)1safactorof P(x).
P(x)8) (x-9) 8 SdEposo.

() (x+9)isafactor of P(x).
P(x) 3% (x+9) w8 Seroso.

Options :

4. % 4

Question Number : 6 Question Id : 2099632087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS

Find the triad (x, y, z) of natural numbers.

Pe Ropfe G55 (X, 3, 2) & €08) o

(I} x+y+z=1
() x=3y==62z
Options :
1,% 1
2. %2
3.v3
4.% 4

Question Number : 7 Question Id : 2099632088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



The students 1 a class want to celebrate a party. How much did each contribute?

2.8 BT derffoen 28 P ahY&omrdiogotrd. 8) 6 o
5@0@@3 AVA)

(I)  Each student contributes as many rupees as the number of students i the
class.
09 D, & S0r1B" o o8 derigoen ot 0B i
v 0P, |

(I} The total contribution 15 Rs.1111.
o b eanfol dr. 1111

Options :

4. % 4

Question Number : 8 Question Id : 2099632089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS

Find the number of terms 1n the series.

3 3850 e Do) $08)00.

(I)  The sertes 15 the sertes of first few odd natural numbers whose sum ts 19.
0 3 o, o e §Q) B0 i oy o 196 eabipwr
&od.

(Il) The first term of the sertes 15 1.

o3 363 ' ceh cko 1.

Options:

Question Number : 9 Question Id : 2099632090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS

Find the four digit perfect square number.

T 9080 M0iTg 9 Moy S8 0

(I)  The number leaves the remamder 2 when divided by 4.
& 200 4 3 ¢rfiy Sidoy 30 2,

(IT)  The number 15 odd.
e 203 8 o3y,

Options :

4. % 4

Question Number : 10 Question Id : 2099632091 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS



What 15 the average weight of 40 persons?

40 008 200 WYL TR0 o ?

(I) The average weight of 10 persons 1s 35 kgs.
10:006) 360 000 fdi) 35 S,

(I) The average weight of 30 persons 15 30 kgs.

30 dod 50 AT 63 50 a.T.

Options :

Question Number : 11 Question Id : 2099632092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5°0% DTS



What 15 the two digit number”

¢3 Gocio3e) :003135 NI

(I)  The difference of two digits of the number 15 4.

03 :ooaa,gesﬁ:) Boco3e) B30 4

(IT)  The two digit number 15 divisible by 4.
e Bocto30 o3 4 & ephiotcidood.

Options :

Question Number : 12 Question Id : 2099632093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



With what day the year X ends’

Roidydo X 036 O T drbied?

() X1saleap year.
X 8 2) RoideGo.

(IT) The year X begins with Saturday.

X dosdedo 3608 TR0,

Options :

4. % 4

Question Number : 13 Question Id : 2099632094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency Ggro? DUDS



Find the sum of squares of the two natural numbers.

0 Boc WP RogfR S0 Ao &) §08) o,

(I)  The sum of those two numbers when added to thetr product, the result 1s
208,
% 0ot 03K 0GR P VEPAS ST 208 B0

(I) The numbers are greater than 2.

g 5003_)5&1) =) bgﬁ).

Options :

4. % 4

Question Number : 14 Question Id : 2099632095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency Ggro? DUDS



[s quadrilateral ABCD a square?

dendyzo ABCD 28 68060 ©a)vorr ?

(I) ABCD 15 a rectangle.
ABCD 28 6 .

() AB=BC.

Options :

1. %1

Question Number : 15 Question Id : 2099632096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



Find the area of the circle .

C & o g, FPfo o

(I)  The s1de of the regular hexagon H mscribed m the circle has length of 10
i}
80 C 6 e0dtdod udd Gyt H ding, D39 enid Ty 10

20,80,

(IT) Raduus of the circle C 15 less than the side of hexagon H.
o ( 0333525 @53‘%0, TED), ?JlCiJe)Eﬁ H dilJng oo L) S:Fl

@é%é.

Options :

1.41

4, % 4

Question Number : 16 Question Id : 2099632097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency G5r0% DTS



What is the value of 32,2727

32,270 Ded doch ?

0 a=3b
M) a=-3b
Options :
1%
2.9 2
3. %3
Y

Question Number : 17 Question Id : 2099632098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency Ggro? DUDS



Let a, b be any two natural numbers. Is a odd?

0, b 0% 2 Botd 72 (o™ 1800, 2.8 B0 s d0r?

() a+bisodd

a+hasg 6?0?00&35.

(I} b1san odd number

b g 5?0‘&)0&.75.

Options:

Question Number : 18 Question Id : 2099632099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DUDS



Find the middle number of 11 consecutive odd numbers.

1 S 89 Qoo &ERY) Doy Smﬁﬁbod.

(I)  The sum of those odd consecutive numbers 1s 143.

o % 8 oy go 143,

(I) 915 a number among them.

TS 2,¢ o3[ 9.

Options :

1.1

4. % 4

Question Number : 19 Question Id : 2099632100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency 65r0% DTS



Are x,y and z are 1n geometric progression’

X,y,2e0 (03 ¢ G 0f?

(I) y2 = 7%
(L) 2x,3y,4z are in arithmetic progression.

2x, 3y, 4z 00 ©0g348 G .

Options :

Question Number : 20 Question Id : 2099632101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency &gros oS



Is the real number x at a distance less than 3 from 47

X R TR o3 4 R00G. 3 SMIREVEY ArdodS” orr?

(I)  x1sata distance greater than 3 from -2.

2 2008 x 938 3 43) ) SrgosS’ Eod.

(II) x 15 ata distance less than 4 from 3.

X 938 3 A0& 4 4%) B4y BrGoS” Eod.

Options:

Sub-Section Number : 2
Sub-Section Id : 209963232
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 2099632102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving PRI P

A. Series (Analogies/a:b::c:d relationships) — Beoen

5 3 B - 9 .

T Bl
(1) 250

(2) 164

(3) 149

(4) 8l

4. % 4

Question Number : 22 Question Id : 2099632103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving PRI P

A. Series (Analogies/a:b::c:d relationships) — Beoen



AKN:MJB :: CLR :

(1) PKE
(2) QMD
(3) QKD
(4) PKF

Options :

1. %1

2 %2

303

4, % 4

Question Number : 23 Question Id : 2099632104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving PRI P

A. Series (Analogies/a:b::c:d relationships) — Beoen



(1) 63
(2) 18
(3) 6l
(4) 46

Options

1. % 1

2.9 2

3. %3

4. % 4

Question Number : 24 Question Id : 2099632105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY FE

A. Series (Analogies/a:b::c:d relationships) — Zeavew



TAP: 73 2 ICE :

a2

N vt v N
-...__‘__]
—

Options :

Question Number : 25 Question Id : 2099632106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RRIRP] FeD

A. Series (Analogies/a:b::c:d relationships) — Zeavew



DOG: 13 CAT :

(1) 14
) 12
(3) 15
(4) 16

Options :

4. % 4

Question Number : 26 Question Id : 2099632107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY FE

A. Series (Analogies/a:b::c:d relationships) — Zeavew



CHETAN : AECHIN :: KAMBLI :

(1) LMKABI
(2) LMKIAB
(3) LMKIBA
(4) LKMIBA

Options :

1.9 1

2. % 2

3. %3

4. % 4

Question Number : 27 Question Id : 2099632108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY FE

A. Series (Analogies/a:b::c:d relationships) — Zeavew



ACD (24) - EFF (51) - TTH (78) :

4. % 4

Question Number : 28 Question Id : 2099632109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY FE

A. Series (Analogies/a:b::c:d relationships) — Zeavew



DIOT: 05110 :: RISX:
[8M24
19N23
19N25
18N24

— o — —
L |
Nm—" e S S

Options :

4. % 4

Question Number : 29 Question Id : 2099632110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANATLYTICAL ABILITY
2. Problem Solving RIRPY

A. Series (Analogies/a:b::c:d relationships) — Zeavew



W1024 : U144 ;- 58281 : Q

R S o —
f . f
=
-2
[E—

3) 5031
4) 5041

Options :

1. %1

2. % 2

3.%3

4.9 4

Question Number : 30 Question Id : 2099632111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RIRPY FE

A. Series (Analogies/a:b::c:d relationships) — Zeavew



MXN : 13X12 :: FXR :

) 5X17
) 14X15
) 20X8
) 7X19

Sub-Section Number : 3
Sub-Section Id : 209963233
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 2099632112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ;‘bsﬁoé‘)}g FED

A. Series ( Odd things out) FreD



A3,D6,111, P18, §21, Y27

(1) D6
Q) Y27
(3) S21
(4) A3

Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 32 Question Id : 2099632113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving QB e

A. Series ( Odd things out) FEeD



2 7 14 23 34 47 62

10" 17°26" 37 " 50 65 " 84

() Z

37
(2 2
84
3
17
i =
50
Options :
1. %1
2.¥ 2
3.%3
4. % 4

Question Number : 33 Question Id : 2099632114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RO e

A. Series ( Odd things out) Frew



13,19, 21, 29, 37,49, 60

Question Number : 34 Question Id : 2099632115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving QB e

A. Series ( Odd things out) e



3,63),4,9,0),(5,12,1),(6,142),(8,19,1),(9,39,3),(10,433)

Options :
1.9 1
2. % 2
3.%3

4. % 4

Question Number : 35 Question Id : 2099632116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ;‘bsﬁﬁ“ﬁ S

A. Series ( Odd things out) FEeD



ALGERIA, BANGKOK, SPAIN, FRANCE, ROME, GERMANY, HANOI

(1) SPAIN
2) ROME
(3) HANOI
(4) BANGKOK

Options :

Sub-Section Number : 4
Sub-Section Id : 209963234
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 2099632117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
FELRD



7,15, 26, 40, 57, 77, 100, :

(1) 146
2) 116
(3) 136
4) 126

Options :

Question Number : 37 Question Id : 2099632118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Bra0ew



0.-1.0,3,8.15.24

(1) 35
2) 3l
(3) 27
(4) 29

Options :

Question Number : 38 Question Id : 2099632119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Bra0ew



(0.3, (4,6, (7,10, (12,18), . (30,42), (43, 59)

Question Number : 39 Question Id : 2099632120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Bra0ew



2 4 1
114=,116-,120,125,133=,___,200
76 3

Question Number : 40 Question Id : 2099632121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
FELRD



1. 4.27, 16, 125, , 343, 64

(1) 30
(2) 25
(3) 36
(4) 40

Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 41 Question Id : 2099632122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
FEDRD



(3,5),5,7), (11, 13), (17, 19), (29,31), (59, 61)

(1) (41,4)
Q) (39,41)
(3) (57,%9)
) (37,39)

Options :

1.41

4, % 4

Question Number : 42 Question Id : 2099632123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fea0ew



Options :

1.9 1

Question Number : 43 Question Id : 2099632124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
BLDRW



1,70, 372, 77,7483,

Q)
(3) 76
@) 78

Options :

3.3

4, % 4

Question Number : 44 Question Id : 2099632125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fea0ew



42 96 I 19335 965
2 2 2

)

2

)

2

3) M

( 2

(4 22

2
Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 45 Question Id : 2099632126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
A. Series ( Missing numbers in sequence or series)
Fea0ew



8,24, 12, 36, 18, 54, , 81

(1) 23

2) 25

(3) 27

(4) 30
Options :
1. %1
2. % 2
3.¥3
4. % 4
Sub-Section Number : 5
Sub-Section Id : 209963235
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 2099632127 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 48)
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving R0) D

B. Data Analysis STro% DI



The following table shows the number of three products Py, Py, P; sold by five

different shops A, B, C. D and E.

& 800 agse? ot Qoo A, B, C, D snbos E o o) e
sydoen P, Py, Py oy AVARVAS

Shop
g0 Py P P,
A 420 340 012
B 360 120 420
3 540 600 510
D 120 480 300
E 34 012 288

Based on the above mformation, answer the questions from 46 to 48.

2 DTRG0 GPCo 46 Mok 48 05 o) 93 V%) AT 0C.

Sub questions

Question Number : 46 Question Id : 2099632128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving REF| FES

B. Data Analysis S0t DA



What 15 the ratio between the total mumber of products sold by shop B and C?

B, C &3 cosetmen ©x) 3 ando 63y%00 8 dod ?

Options :
1. %1
2.9 2
3.%3

4. % 4

Question Number : 47 Question Id : 2099632129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R0g D

B. Data Analysis Sgro% DFE



The percentage of sales of product P; i the total sales of shop D 15

e D Ango v sl 63 P g eikys 7o

(1) 48
2) 2
(3) 34
) 32

Options :

1.1

2. % 2

3. %3

4, % 4

Question Number : 48 Question Id : 2099632130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RBOFY FED

B. Data Analysis Aot DFAes



The average of sales of product Py by all shops A, B, C. D, E 15

o) s A, B, C, D ok Eodd ORDCA 633 Py QS B

"rboaJéQJ I

(1) 46
) 46
() 426
(4 416

Options :

Sub-Section Number : 6
Sub-Section Id : 209963236
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632131 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis S0t DA

The following pie-chart shows the number of students studymg different courses
A,B,C,D,E and F na college.

& $00 D Do, 2538 wpod® A B.CDEF v @mbm A vt

oy Ardipod

Based on the above information, answer questions from 49 to 31.

D Rarero o 49 Aot 51 908 0 P30S AT 0c.

Sub questions

Question Number : 49 Question Id : 2099632132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis S0t DA

[f the total number of students studying course B 15 270, then the number of students

studying course [ 15

B &3 Sy i dorow Roa 270 Y Sty D 2 46 oy

4, % 4

Question Number : 50 Question Id : 2099632133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis S0t DA

[f the total strength of the college 15 7200, then the number of students studying

course (18

o Se 08D Augo oo dong 7200 sadiped, Sy € I 883

Question Number : 51 Question Id : 2099632134 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis S0t DA
The total number of students studying courses A and B 15 equal to the number of

students studying which of the following two courses?

A, B & Both Ecoyoio 3D o devithe don & Sodh ayd ) Botd
Styory 5059 o devicho oz irde?

(1) D,
Q) EF
) AC
4 BF
Options :
1%

2.9 2

4. % 4

Sub-Section Number : 7
Sub-Section Id : 209963237
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632135 Question Type : COMPREHENSION Sub Question Shuffling Allowed :



Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R0) D

B. Data Analysis STro% DI

[nan apartment of 240 families each family subscribe at least one of the three dalies
E Tand A It 15 known that 120 families subscribe E, 140 subscribe T, 60
subscribe A, 20 subscribe T and A butnot E, 30 subscribe E and T and the number
of families who subscribe E and A butnot T 15 20 more than the number of famulies

who subscribe all the three.

140 Sootpen o 2.8 88 085 8’ 93 Stnono E, T, A B3 23808 Qo
28 TR orrrdbeutr $od, Bocod” 120 Stnotren EL, 140 Svotren
1%, 600600e7e0 A 08) dorPerdoen 1P &:P) . 18 A% ot SCIER ES)
A 9%)5) >0 ‘r’ooaJ5 20; E bBoko T v ot 563800) & 30enoeren. £
00050 A 05 oty S0 T4 ot 440 70 o2 &30 1) o8 o 48
0 "n)oa.Jg 5T) 20288,

Using this data, answer the following questions from 32-55,

& Rulrio ERBorP 52-55 0% o )0t drePdin

Sub questions



Question Number : 52 Question Id : 2099632136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving :‘baﬁ)&’é FED
B. Data Analysis S0t DA

The number of families who subscribe to all the three 1s

207088 o S DrVoEre Vo)

(1) 7
2) 6
(3) 3
(4) 4
Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 53 Question Id : 2099632137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis S0t DA

The number of families who subscribe only A 1s

A & drg oo smmaﬁmm ‘&303_375

(1) 10
2) 1l
(3) 12
) 13

Options :

1.4 1

2. % 2

3. %3

4, % 4

Question Number : 54 Question Id : 2099632138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Q0] D

B. Data Analysis ATr0% DB



The number of families who subscribe only E 1

E & argidy dore $0308) $hnotre) 203

()
2)
()
(4)

02
03
04
63

Options :

Question Number : 55 Question Id : 2099632139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RBOFY FED

B. Data Analysis Aot DFAes



The number of families who subscribe exactly any two of these three 15

Srdode” ‘&)8%7“ D09 Bocotds Homra Ségcf) )600870) ":003,35

4. % 4

Sub-Section Number : 8
Sub-Section Id : 209963238
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 2099632140 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving SRR

C. Coding and Decoding Problems
§ o B0k AEcoh DRl



The letters of English alphabet are arranged around a circle n clock wise direction
and are coded as follows:
a) Avowel is coded as 4™ vowel from it n the clockwise direction

b) A consonant is coded as 2** consonant from it in the counter clockwise
direction.
For decoding tmverse process ts followed.

Based on the above information, answer the questions from 36 to 60.

wof} 36370l ) wEro 2 Sdo B MBS edd) Y & od
egore 86 30.
a) @ oy ) ol 43 ey ABHG EE 5.
b) &8 23 ordiood Bocd e ety B3 8 36,
CE ol & D6 D3 G
2 Rrero RGO 56 Joc. 60 0 0 3 S AR (o

Sub questions

Question Number : 56 Question Id : 2099632141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§ o B0k AEcoh DRl



The code for TSICET 1s

TSICET & &&

(1) RQAYAR
(2) RQEZAR
(3) SQEZAS
(4) SPEZAS

Options :

1. % 1

2.9 2

3.%3

4, % 4

Question Number : 57 Question Id : 2099632142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RO s

C. Coding and Decoding Problems
§coh 208aky a8 Ao dRge



The code for AVOID 1s

AVOID £ §&
(1) UTAEB
(2) ZSIFA
(3) USIEB
(4) UROEB

Options :
1. %1
2. %2
3.4 3
4, % 4

Question Number : 58 Question Id : 2099632143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§coh Bu8ak G Ao DRI



The string of letters that 15 coded as PENCIL 15
PENCIL m §6 Saheds ©goo &riy

(1) RIQFON
(2) SIPFOM
(3) RUQFIN
(4) RIPGUN

Options

1.4 1

2. % 2

3. %3

4, % 4

Question Number : 59 Question Id : 2099632144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving DB e

C. Coding and Decoding Problems
§coh 208ok a8 doh DR



The string of letters that 1s coded as RACE 15

RACE m §€ dabeds wsomo Srth
(1) TUFO
(2) SEGI
() TEHI
) TIGE
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 60 Question Id : 2099632145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving R e

C. Coding and Decoding Problems
§ o B0k AEcoh DRl



The code for CRAFT 1s
CRAFT &% €&

ZQIDS
ZRADR
ZCAPR
ZPUCR

4. 4

Sub-Section Number : 9
Sub-Section Id : 209963239
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 61 Question Id : 2099632146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving DB e

C. Coding and Decoding Problems
§coh 208ok a8 doh DR



In a certam code 1f DEJECTION 15 coded as TCENOIJED and DUPLEXITY 15
coded as XELYTIPUD then the word DEBUNKING 15 coded as

53¢ 8 & DEIECTION & TCENOIED b, DUPLEXITY o)
XELYTIPUD iy 84 iy DEBUNKING cing), 86

(1) GNIKNUBED
(2) KNUGNIBED
3) GNIBEDKNU
(4) BEDKNUGNI

Options :

Question Number : 62 Question Id : 2099632147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§coh Bu8at GE Ao DRy



If CLASS 15 coded as TRBKD. then code for LEVEL 15

CLASS & TRBKD e §€ &%, LEVEL & &€&

(1) MDWDM
() KDUDK
(3) MEVEM
(4) MDVDM

Options :

Question Number : 63 Question Id : 2099632148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

C. Coding and Decoding Problems
§ o B0k AEcoh DRl



[f LIFEHACKS 15 coded as 14110871003051321 then, the code for SAVER s

LIFEHACKS 0 14110871003031321 m §€ 32§, SAVER 0308), §E

(1) 2103240720
) 210334070
() 21034070
) 210334070

Options:

Question Number : 64 Question Id : 2099632149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving BT s

C. Coding and Decoding Problems
§coh 208ak G0k dRge



In a code language, GIANT 1s written as SMBHE, then the DRIVE 15 written 1

that code as

28 86 7 GIANT & SMBHF v b, o0 §6 emad” DRIVE & 2ot
o

(1) DVMQC

2) DUMQC

(3) DUIQC

(4) DIVRC

Options :

4. % 4

Question Number : 65 Question Id : 2099632150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving RO s

C. Coding and Decoding Problems
§coh 208aky a8 Ao dRge

In a certain code BREAK 15 coded as 185 and CAUSE 1s coded as 245, then the
code of CROWD 1

25238 8€ & BREAK & 185, CAUSE 20 245 e §6 Shais ed §6
o CROWD s, g&

Options:
1. %1
2. %2
3.3

4, % 4

Sub-Section Number : 10
Sub-Section Id : 209963240
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 66 Question Id : 2099632151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving “fomb"g Fe5d

D. Date and Time & Arrangement Problems
B, DJ00H0 B WBSL DAV

Christmas day 1n the year 2025 falls on the day

2025 & o 3an0e RN Gy deon0?

(1) Wednesday e0GTG0
(2) Thursday AT G0
(3) Frday 0800
(4) Saturday 39060

4. % 4

Question Number : 67 Question Id : 2099632152 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, D000 B WBSL DAV

At what tme between 3pm and 4pm are the hands of a clock together?

Sorrr{o 3 o8k 4 ot oy icatrdo 7 oguen 3 didavo O
DS’

; -
(1) 16Hminpast3 m°'16ﬂ o

4 4
2) 16Hmin past 3 3fl. 16E o

: :
) 27=minpast 360,272

3 2
4) 29Hminpa5t3 i 113'

Options:
1. %1
2.9¥2
3.%3

4. % 4



Question Number : 68 Question Id : 2099632153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ;’05533‘35 Fesd

D. Date and Time & Arrangement Problems
38, DdaDo o sy RR[e

[f time m a clock 1 5.40, then what time does 1ts mirror image show?

AdosrGos” 5,40 wnatre 03)352} Cﬁdbz’a 28000 ¢ Rako

Options :
1.%1
2.9 2
3.%3

4. % 4

Question Number : 69 Question Id : 2099632154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving “@mﬁ"é Fe5d

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

A s my brother's son’s stster. B 15 my mother’s husband.

Then A 15 related to B as
T Tdrd i T A. 8 g B9 B. wavd, B A JTe?

() Daughter  &rdod)
() Sister Teo

(3) Niece 8 e
(4)  Granddaughter spaanTPe0

Options :

Question Number : 70 Question Id : 2099632155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

[fa person leaves home at 8.00 am for hus office by walk with a speed of 4 kmph
and he reaches office on time. Had he walked to his office with a speed of 3 knmph.
he would have reached office late by 20 minutes. Then the distance between office

and home (in km.) 15

8 38 89 aod ol &8 fobety b 4 4. SMod e &
ST{ardS babedd iuind’ 35, Bt 6 dowds 3 dab. Srod
360 29 6ofl, s“m?gucﬂmé 20 Q. seRyom SOOIPE. B, 8 9ot
bat Spatrd8 do s drdo (Sab.06)

(1) 41
0 4
0) 43
W 3
Options :
1. % 1
2.9 2

3. %3

4. % 4



Question Number : 71 Question Id : 2099632156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, DJ00H0 B WBSL DAV

A bus leaves for Trrupatt every 5 hours from MGBS. An announcement was made
that the bus left for Tirupats 40 mimutes ago and the next bus will leave at 8 pm. At

what tme was the announcement made?

MGBS Aod £ 5 flots) &8 &R0 B3 nabenddiod. & MGBS &
28 930N e Suhod. 40 Q. v Sdo BEDBS Ly D000 sodaty S0
R0y § oty tiahendtosod. Bond, & H5R dabed Abalbed”

(1) 2.330pm
@) .240pm
() &.3pm

(@) a.340pm

Options :



Question Number : 72 Question Id : 2099632157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, DB00oH0 B WBSL DAV

AB,C,D,E F are sittmg m a row facing North. E and F are 1n the centre. A and B
are at the ends, (15 sitting to the left of B, F 15 sitting to the nght of D. Who 15

sitting fo the right of E?
ABCDEF e adrdingor of ddnd ArtyF)D. E Feo moéeﬁﬁ

smaaoim. 4, B Got Dégﬁﬁ ST . By o) ( SJ"dJamld).
DSy ¢ 3 Fé?d)l)n“lci). wod, F § 063 SF0) Gad?

Options:



Question Number : 73 Question Id : 2099632158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving “fom«ﬂ“é Fesd

D. Date and Time & Arrangement Problems
38, DdaDo o sy RR[e



Fora,b €1 defme aQ)b =ax b,a®b=a+b
aPb=a-b adaBb=a=+Dh. Then,
25650108300 10 =

0,b el
a@b=axba®b=a+bh, a®b=a-b bav aBb=a=+hw
koo, 829, 2565010630010 =

Question Number : 74 Question Id : 2099632159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving “@mﬁ"é Fe5d

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

lfa*b:a+b+landa@b:%then(z*fs)@5:

axb=a+b+ 1300 a@b=“—;’ oSN, (2+3) B

Pk
R
2

Question Number : 75 Question Id : 2099632160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving R e

D. Date and Time & Arrangement Problems
B, D0 BN WBSL DAV

fash=(a+bh)’andarb=(a-b) then(3+6)A(5+8)=

axb=(ath) &0y aAb=(a-b) ewd (3x6)A(5x8)=

(1) 74
) 7754
) 679)
) 745

(
3
(4
Options :

1.41

Mathematical Ability

Section Id : 20996332
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 75

Number of Questions to be attempted : 75
Section Marks : 75

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 209963241
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If x and y are natural numbers such that x” = 81 and y* = 64, then x% + y? =

X,y &0 e dopjen X7 = 8l and y* = 64 ki K2 +y?=

) 25
) 65
) 13
)

34
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If x> +4y* —4xy=0,then (x +y):(x —y) =

x* +4y* —4xy =0 wowd, (x+y):(x—y)=

(j 4.3
IE
(3) 3:1
4) 3:4

Options :

1. # 1

2. % 2

3.3

4, % 4
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The total of the daily wages of A, B and C is Rs.1500. If they spend 20%, 25% and
50% of their incomes respectively, then the ratio of their savings becomes 8 : 9 : 4.

What is the income of B ( in rupees) ?

4,B,C © B Hdro Ando &, 1500, 8 esrrasred’ S 20%, 25%
Sofosw 50% athoy &Y, 8 V) 3] QG 8:9: 4 wihdood. B a8 wrraho
dodh (dr.08’) ?

Options :

1.1

4, % 4
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V14 + 46 + /14— 4/6 =

1) 43
(2) 82
(3) 6v3
(4) 5v2

Options :

4. % 4
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o

50
60
70
80

2

i p—— — —
Tl
e — e — g o

Options :
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Let a be a two digit number and b be the number obtained by reversing its digits. If

ab = 3478. then the difference of these two numbers 1s

a 28 Gocto3 ;‘00335 9% 0800 b @D e :aoaaﬁeﬁﬁb 2903030 TG Bobr
ey 003 29505 04w, ab=3478 eand, & Fotd R0 B0

(1) 25
(2) 27
(3) 36
(4) 18

Options :

1. %1

2.9% 2

3. %3
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The greatest possible length of scale (in cm) that can be used to measure exactly three

iron rods of lengths 296 cm, 185 cm and 407 cm is (in cm)

296 0.4., 185 70020, 8050 407 0.4, & APt Q0 $G0R0, P \Bor
Suard3 addirod edied TEPS Beo TE (do.ed)

Options :

1.1

4. % 4
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The HCFof 2%5%7%11%, 2°375211%137 is

PR, 273N IR e o 3“355":‘65 280

(1) 2t5%11*
(2) 2553112
(3} 2° 3P4t
(1) 2*5%112

Options :
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The greatest common divisor of the numbers 5'° — 1,5%* — 1is

5915 1 el o[ H63 somaig rado

(1) 5*-1
(2) 56-1
@) b1
4) 58-1

Options :

1. % 1

2.9 2

3.% 3

4, % 4
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(1) 5
23
2) 4
21
3) 3
22
(@4 2
27
Options :
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2. % 2
3.3
4. % 4

Question Number : 87 Question Id : 2099632172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90St5edeh bv.mgé@



xZ-xy+y?

x:y=53 = v
(1) 17
49
2) 19
47
(3) 19
49
(4) 13
49
Options :
1. %1
2. % 2
3.3
4, % 4
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(1)245?13

el R
(2) 513 7 4 2

7’17’13’ 115
(.,)42;513

11'13"17'5"7

Options:
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The positive square root of the smallest of the numbers

4—15 7-23, 56, 6-V15

4—\15, 7= 23, 5-v6, 615 o' 400 o GR0g) &5 58 Borwo

Options :
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It 18% of a property is worth Rs. 1.98 lakhs, then 48% of the property 1s worth (in
lakhs of rupees)

w8 Hontd 187 36 4. 1.98 oo Deodi 48 6o, & dodts' 487
0308 Dewsd (0go gr.of)

(1) 576
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A person Mr.A sells two mobile phones for Rs. 96000 each, gaining 20% on one and

losing 20% on the other. Then his overall loss percentage i this transaction is

28 S Mr.A 88 Goth) 0080 ko a8 L ER) 6r.96000 0% 9 H)\, 9
TR 207 &go, Gocksd T 207 o By, & rTES 68 8 Tdo

Options :

1. %1
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An article 1s sold at the profit of 25%. If it was sold at the profit of 30%. then Rs.50

more would have gained. The cost price of the article is (in Rupees)

w8 SR 257 o8 w8 @A 307 ezod wiy o, dr. 50
ey e JodaT . &8 S § )20 (r.0085°)

3.3

4, % 4
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A person bought an article for Rs.1200. He sells it with a discount of 10% on its
marked price and derives a profit of 20%. Then what is the marked price of the article

(in rupees)?

WSS SR 8 B8 6r. 1200 0% ST . & SR i) HIBS Do D
10% eﬁﬁo@@ﬁ QDQ, TR 20% erdo £ umém@m ¥ 3R canéb 2SS o
dod (6r.08")?
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; i 1 :
Three persons A, B and C started a business. A invested > of the total capital and B

invested amount equal to the investment of A and C. If the annual profit in the business

is R$.21000, then the profit of C is (in Rupees)

A B, Ce&d bt Syghen edydm g TFoed) anden Edd. wdo

Bareddods % 3 doehodd A b%}nm&rr ored. A, C o dboetdo ANTPRS VAT
00d T B DERAT red. & T{ardod doddrod ergo 6. 21000
wond, C o), erdo (r.08)

(1) 3500
(2) 10500
(3) 7000
(4) 9500

Options :

1.1

2. % 2

3.%3

4, % 4
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Two persons A and B start a business as a joint venture with the mvestments in the
ratio 3 : 4. B withdraws his investment after few months. Immediately, at the time
of departure of B, another person C joins with A with an investment half that of B.
A and C continue till the end. If shares of B and C are equal i the year end profit,

then when did B leave?

A Beid 3jge0 314 38 dhondd wd eyl TRHTR) 6000k )
D00 25 B {ikdo ool ooy, o dauabod’ A § C e 313 B g,
oboadd o bwadd 36, DBers SRR, Hodd\Tod ergod’ B dbaty
C o Eren Adrdo Lo, Ji‘)l VR efomseﬁ B e a“@“do 00

a@moam?
(1) After 4 months T duw dhard
(2) After 6 months th o SdTd
(3) After 5 months 2 v S
(4) After7months 2 deow STd
Options:
1.1
2. % 2
3.%3
4. % 4
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1. Arithmetical Ability

e90SKedeh av.mgé@

There are two taps A and B are attached to the bottom of a rectangular tank. The tap
A when opened fills the empty tank i 2 hours whereas tap B empties the full tank in
5 hours. When the tank 1s empty both the taps A and B are opened at 10 am. The

amount of time taken to fill the tank 1s

28 &g SS8FsE & ég eatath &Prr) A, B ew 099 ot deren @00 BEEQD.
der A & 360 8 379 §B D 2 totrwd” Nore ¥ B &8 Aot §8
Stioied” a9 SRnod. & S ardm &) Gocd dgren A, Bok ecioto
f10.10 3 86%. &8 § DocktrS O idoato

(1) 3 hours 20 minutes 3 tfo. 20 Q.
(2) 3 hours 3 tho.
(3) 4hours 4 tfo.
(4) 4 hours 10 minutes 3 tio. 10 Q.
Options :
1.¥1
2. % 2
3. %3
4. % 4
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Instruction Time: 0
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SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability
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A pipe can fill a cistern i 3 hours. Due to leak in the cistern, it takes 4 hours to fill.

In how much time can the leak empty the cistern? (in hours)

28 22 28 FE 3 ot Aodriody. © FBE’ B 6o, 08 4 ot
Rocrdood. Jod 22008008 e D &3 S8 529 SwoBd(fo.08')’

Options :
1. %1
2.9 2
3.% 3

4. % 4

Question Number : 98 Question Id : 2099632183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

e90SKedeh av.mgée:e

A girl walking at a speed of 15 kmph and reaches her school 20 minutes late. Next
time, she increases her speed by 5 kmph, but still she is late by 10 minutes. The

distance of the school from her home is (in kms)

208 arD tfotad 158,00, rfod ek 85 1um, & £ 20 . e ewrdforr toebotod,
B0 AP0, &) AP Aot 58,41, € DS & & 102,00 Bdforr
25 bowd, 20 908 dod A6 & o drdo (3.0.06)

(1) 15
0 1
(3) 1
4) 8

-

-2

Options:
1. %1

2. 2
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1. Arithmetical Ability
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A train travels between A and C via B. The train leaves A at 8.00 am with a speed of
60 kmph and reaches the station B at 9.40 am. The train halts at B for 10 minutes and
starts moving towards C with a speed of 90 kmph and reaches C at 11.30 am. Then

the distance between A and C (in kmph) is

28 500 B 06ore A &oodk € 36% airedood. 940 A {008 &.8 fo.0%) oy
60 3.20. Sriod eaathendd G HAS BRY 6.9.40 flo.od) Seikoted. S B
3610 2. e e C 3 flobrsh 90 3.0, Htiod wabendd &.11.30 & € D
Srootno, @)K A 8ot C © &y drbo (3. .08)

Options :
1. %1
2. %2
3.3

4. % 4
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1. Arithmetical Ability

e90SKedeh av.mgée:e

Three persons P, Q and R together can finish a job in 18 days. P and Q together can
complete the same job in 20 days where as P alone can finish the same job in 30 days.

If Q and R work together, then the number of days required to complete the job is

Sooeth Sen P, Q, R ev a8 5N 18 Beswd’ 378 dabriod. P, Q e g
dod 8 D 20 Bzrod’ Qrg oo, s P wdd @ DD 30 Bag
Qrddabecs. QR e adde S8 5 5 & DI 78 datvbd vt Baw

;boa::é

Options :
1. % 1
2. % 2
3.3

4. % 4
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1. Arithmetical Ability
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The ratio of one day work of a job of three persons A, Band Cis 6: 4: 3. If A and

B together can finish the job m 15 days, then how many days C alone can finish the

job?

2 D otoBod Bt G0 A B, Co a8 B 0d M@ 6:4:3. A
Bew g 580 & N 15 Sarod 9pg Sosri®, € a8 0 ) Bewod
478 Sokrot?

Ly |

L}
Lo}
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’ 4 : A O T I , .
Area of the triangle whose sides are AL o (1n square unis)

O
y T2 TR Ty deer o ad Gabuo dg) dTuo (.0r.0d)

 ZE

4, % 4
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1. Arithmetical Ability
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Let S be a circle with centre O and radius 5v2 cm. If AB is a chord of length 10cm

in the circle S, then area of the sector AOB is what percent of the area of the circle S?

0 Zocto ™ & 5v2 0.8V, T flo dydo 0 § einbod o SE 10R0.D.
o 2 AB, wod, & 3% Q?Up&ﬁﬁ 0570 AOB 7°00 alodd 0 ?

) 20
) 25
) A
) 30

4, % 4
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1. Arithmetical Ability
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A cuboid A has dimensions 6 X 12 X 24 in centimetres. A cube C has volume equal

to the volume of A. Then the surface area of C (in cm?) is

A &5 86 2w Soden 20008 6 X 12X 24, A diug), 20R8APt0 %
QPR LRDBATEO o HiZP0 C dvd) ebde PPl (v0.’ 0’ )

(1) 864
(2) 844
(3) 900
(4) 824

Options :

Question Number : 105 Question Id : 2099632190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
1. Arithmetical Ability

005 iedeh avmgé@



The circumference of the base of a cylinder 1s 66 cm and its height is 20 cm. Then

the volume of the cylinder is (in cn’)

20 0.0, JTTR) 28 {Pid0 GIS, ettt erho o) oty S 66 2o,
o, & Qrdo g Db DB (0.9, 0

4, % 4

Question Number : 106 Question Id : 2099632191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
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The length of a room is double its breadth. The cost of colouring the ceiling at Rs.25
per . meter i Rs.5000 and the cost of painting the four walls at Rs.240 per sq. meter

15 Rs.64800. Then the height of the room (in meters) s

w8 (6 ding), T, ooy  Gocd 5. & A8 PSPy orh Datuirsh dab.
% 6r.255%y% 625000 athy ST, e Fod) ool Sk, B.0.%
. 240 Sy 6. 64800 iy e, s (16 Ao (o.0')

L]

— —
LS ] -2

N Qe — s —
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[

Options :
1. % 1
2.9 2
3.% 3

4. % 4
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There is a rectangular park of dimensions 300 X 250 m?. It is decided to go for
fencing along the boundary, with a provision for a gate of width 3m. along longer side.
Erection of gate costs Rs.12000, while rate of fencing per meter is Rs.125. Then the

total cost involved in entire work (in rupees) is

300 X 250 0.2 §wden fo 2 & SAFT6Y) aocbgj doth. T dowd 3 .
N o S0 96D ifer Htar o by Waodd. k) Db
0003 0y 67, 12000, STP &8 iy Soid Sasobosh idy G125 Sy &

Ao DS 00 N (dr.08)
(1) 149100
Q) 149125
3)
4) 1
Options :
1. % 1
2.2
3. %3
4.% 4
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A rectangular room has floor length of 14 x 10 sq.ft. Each tile is of dimension
2 X 1sq.ft. and costs Rs.20. Total cost including tiles cost incurred in laying tiles on

the floor is Rs.19040. Then the cost of laying tiles (per sq.ft) is (in Rs.)

w8 ég SA6FTS (16 S0 Soden 14X 10 S0, 2 X 1.0 Sudody $DAd
28) 85 266> 6220 LandY©. & Jo p 66 & JabrdS by G5,

S35 wowd 2do Hdy 6. 19040 wandined. By SaEES e Py
(08 B.0.8%) (6r.08")

(1) 136
(2) 126
(3) 116
(4) 146

Options :

1. %1

2.9¥ 2

3.% 3

4, ® 4
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149

The remainder when 31*° is divided by 4 is

31% 2 4 B 2o ey N0

(1) 1

~—
)
S’
4

Options :

4, % 4
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The solution of 3x = 4 (mod 7) 1s

3% =4 (2700 7) is dBog), Fed

et
il
-2

2

e i il
N

)

L

P et T o, Y o I o

e
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n

Options :

Sub-Section Number : 2
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LetA=1{2,4,6,8, ... ,50}and B ={3,6,9,12, ... ,48}. Then the total number of

elements in the set (A—B)U (B—A4)is

o A=1{2,4,6,8, ... ,50}, B=1{3,6,9,12, ... ,48} m B2 0tS, H2Sd
(A-B)U(B-4) & dwroso o3

Options :

1. %1

4. % 4

Question Number : 112 Question Id : 2099632197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aﬁ"é&){'a{:ﬁj 3"{1}%@



Let A, B be any two finite sets with m, n elements respectively. If A has 192 more

subsets than B. then the ordered pair (m,n) =

Sddm m,n :boaaisveﬁﬁ Qareseoi DAY DO Hdw A, B 08 od. H
B $7r) 2ad A £ 192 & deddoen ey drr ea‘)ﬁ goakworjo (m,n) =

3.3

4. % 4

Question Number : 113 Question Id : 2099632198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aﬁ"é&){?{:ﬁj 3"&.‘}%@



Let p(x) = x* + ax + b. If p(x) leaves remainders 2 and 3 respectively when

divided by x — 1 and x — 2, then a® + b* =

p(x) = x4+ ax+ b eS80, p(x) ) x — 1 8akn x — 2 od zrfodm
ey Baren ST 2, 3 wawd, a° +b* =

(2) 18
(3) 17
(4) 16

Options :

1.1

2. % 2

3.% 3

4. % 4

Question Number : 114 Question Id : 2099632199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DB, eanéa;éom &mgée:a



Let p(x) be a quadratic polynomial such that p(1) + p(2) = p(3),p(2) = p(-2)
and p(4) = 20. Then p(5) =

p(x) 96 8 :)g G wow p(1) +p(2) =p(3),p(2) = p(-2) dvdakw

p(4) = 20 wakitn &oB, p(5) =

4.9 4

Question Number : 115 Question Id : 2099632200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DB, eanéa;éom &mgée:a



If the polynomial x* — 2x* + ax + b is divided by (x — 1) and (x + 1) leaves

remainders 6 and —2 respectively, then a* + b* =

2B 1 -2 +ax+b N (x—1), (x+1) 03 eI Har

6, -2 0 3aren ™ S, a? + b? =

Question Number : 116 Question Id : 2099632201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éa‘.b &mgéa



If a polynomial leaves remainders 5 and 8 when divided by (x — 1) and (x - 2)
respsectively. then the remainder when the same polynomial is divided by

X2=3x+21is

w8 esm0nBd (x — 1), (x — 2) 08 ePAoddi Sddm 5, 8 en dareorr
ODPaY. o, wd windd x2 — 31 +2 & rfied S v B

Question Number : 117 Question Id : 2099632202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%, eaﬂéibéa‘.b .5‘“6.{1}%?5@



2 3 7 4 9 X+y
+——=-and —+ == then — =
x-2y 2x+y 2 x+y 2x+3y 2 x-y

If

2 3 7 4 1 9 éxﬂr
¥

e
x-2y 2xty 2 ' xty 2x43y 2 x-y

| ] —
pa— p—
] =

— — — —
= L] 3
e
[a—

Options :

4. % 4

Question Number : 118 Question Id : 2099632203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DB, eanéa;éom &mgée:a



The value of k for which the equations x + 2y = 5 and 3x + ky = 10 have no

solution 18

k qiog) 2 ey AQS0EPL) X + 2y =5, 31 +ky = 10 0% FED dotiey?

Options :

1. %1

4. % 4

Question Number : 119 Question Id : 2099632204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aaﬂéibéodj 3"8{1}%@



(1.7)34(3.1)34(8.2)3—129.642
(1.7)24(3.1)24(8.2)2—44.63

o
=
p—
[R—
a4l

Question Number : 120 Question Id : 2099632205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D0, eaﬂéibéodj 3"6&33?5@



, . 3 -0 99 i :
Ninth term of the progression —1,=,—,—,—, ... 1s
< 2" 4’8" 16
g = 27 gy
-1,- T 3¢ oﬁ:uéa, 9a3 Do
[) _ 2187
256
(r}) 6561
128
(3) _218?
128
p) 6561
256
Options :
1. %1
2. % 2
3.% 3
4.4 4

Question Number : 121 Question Id : 2099632206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aaﬂéibécda ammgée:a



The 100® term of the progression 1,3,5,7, ...
1,3,5,7, ... & 3¢ & 100 & deso

(1) 199
(2) 10000
(3) 201
(4) 200

Options :

1.1

2. % 2

3. %3

4. % 4

Question Number : 122 Question Id : 2099632207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DB, eanéa;éom &mgée:a



tan 75° =

D 1++3
(2] 3443
(3) V3-1
@) 2443

Options::

1. %1

2. % 2

3.% 3

4.9 4

Question Number : 123 Question Id : 2099632208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéodj &mgéa



sec’f+tan’f=7 0<f <

| =
U
@
Il

el = wl = er:\q'j e | =

Options :

4, % 4

Question Number : 124 Question Id : 2099632209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DEA%, eaﬂéh_véodj 3":‘&.’)%?5&



sinf +sin?6=1= cos*@ + cos? 6 =

o
Tad
L

[

Options:

Question Number : 125 Question Id : 2099632210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éodj E:romgéa



(cosec@ — sinf@)(sect — cos @) (tan 8 + cot 0) =

Question Number : 126 Question Id : 2099632211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%0, asnéa;éom 3"&{13%5@



AB is a pole of height 60 ft., with A being foot of the pole, C is a point on AB. Let P
be a point on the ground horizontal with A. Angles of depression of P from the

points B, C are 60° and 30° respectively. Then BC (in ft.) is

60 escorbe) et a8 Rozfo AB ding), Fio A, 208050 AB » C 28 Dot
A § §3n Hdrodbore 6 0 P &) w8 Dot P. P doodt B, C o Ay
Seren ddoarr 60°, 30° wond, BC (excorbees’)

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 127 Question Id : 2099632212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DB, eanéa;éom &mgée:a



Ina AABC, D,E are points on the sides AB and AC are respectively such that
DE | BC. fAD = x,DB = x— 2,AE = x+ 2 and EC = x — 1, then the value of
3x+11s

AABCS'D  avargd AB, AC © ) D,E dododen S DE || BC
eﬂdi))géﬂgmlm. AD = x,DB = x—2,AE = x+2 0805w EC = x — 1, &0,
3x + 1 aiog), densd

—
Ly |

— o
-1

—— —— — —
L}
Sert” pa— e p—

JE—
L }

Options:

Question Number : 128 Question Id : 2099632213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéa)éa‘.b &mgéa



If two lines P() and RS mntersect at O such that ZPOR=32P0S. then the four angles

dre

LPOR=3LP0S. saisjtkorre PQ, RS & Gotd 26¢0ae0 0 53 ocoisod, &
et Seren

1) 30°,30°,150"150°

(1)

(2) 40',40°,140, 140
(3) 4545,135,135°
(4) 60°,60°,120"120°

Options :

4. % 4

Question Number : 129 Question Id : 2099632214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DB, eanéa;éom &mgée:a



S 1s a circle of radius 9 cm with centre O, in the following figure and ABCD 1s a

square touching S with AE =6 cm. Then the area of AOAC (in sq. cm) is

$06 08" 0 o Sogorr 5 Bydo S cvgy (G0 9 20.20. oBasy  ABCD
5 580630 S 0 3P AE =6 00.8. i), AOAC FFoyo
(5.230.0.08°)

Question Number : 130 Question Id : 2099632215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

The total surface area of a rectangular box with dimensions 10 cm X 8 cm X 6 cm

(1n square cms) 13

10700.:0.X B00.0.X 630,40, © Svdendo ad 88 WTFTEY DY e
NOPY S0 TV (5.20.0.08°)

(1) 256
) 376
3) 216
) 280

Options:

Question Number : 131 Question Id : 2099632216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéibéa‘.b &mgéa

. ' : 22
If a circular sector subtending 120° at the centre has an area — cm?, then. the area of
= 21

X s 3 22
the circle 1s (in cm”) (Take = )

%bo.ba.l 270 $B% w8 HTTE Garjodbo & 58 Sodo 3¢ Saf Eeaol 2°
SN, &8 S TR0 (0. .20 (T =% ™ Sa8Rdw )

Question Number : 132 Question Id : 2099632217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, esﬂéibéa‘.b &mgéa

Let A be an external point to the circle S. A pair of tangents are drawn from A to S
touching the circle at the points B and C. Let the center of S be O, If AO =10 cm,

and AB = § cm, then the area of the quadrilateral ACOB (in sq.cm) is

S 03 TS A & a8 erir| Dot 75 ddw. Dotha A doc: S 0 Hz°ds
faberdd 6, Gaeo S0 B dbaty € Dochiw 36 dydran. 0k Sid
Soggore F8 %08, AO =10 20D, AB =8 0.2, 00RE. ACOB ot
0 (3.20.20.06°) |

) 120

(2) 96
) 36
) 48

Options:
1. %1
2. %2
3.%3

4.¥ 4

Question Number : 133 Question Id : 2099632218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aﬁ"é&){'a{:ﬁj 3"{1}%@

If the points (1,3),(5,6), (17, k) are collinear, then the value of k is

(1,3),(5,6), (17, k) &3 Dochyen 2BDakren wandm, k =

Options :

1.1

4. % 4

Question Number : 134 Question Id : 2099632219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DB, eanéa;éom &mgée:a



The Y-axis divides the line segment joining (—1,2), (3, 4) is
(—1,2), (3,4) vdo 98 Sar o) Y-es0 Daeod Mayd
(1) 1:3

2) -1:3
(3) 2:4
4) -2:4

R

0
3
Options :

4. % 4

Question Number : 135 Question Id : 2099632220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéméodj &mgéa



If the line ax + by + ¢ = 0 is passing through the points (8,—3), (-4, 12). then
4a+9b+2c=

ax + by + ¢ =0 26¥6 (8,-3), (—4,12) 0 Docode ot T3,
4a+9b+ 2c =

) 28
(2) 19
)

)

L }
2

Options :

1. %1

Question Number : 136 Question Id : 2099632221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%0, w&ﬁsécﬁj 3"&{1}%@



The equation of the straight line passing through the origin and making an angle 120°

with the positive direction of X-axis

0 Dockoid) ot e X-0o ¢ B3 120°8y S 26v3ae 2usGeao

() V3y-x=0
@ y-Bx=0
() y+V3x=0
4) V3y+x=0

Options :

Question Number : 137 Question Id : 2099632222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D0, eaﬂéibéa‘.b 3"6:133?5@



The slope of the line perpendicular to the line passing through the points

(0,0),(1,2) i

(0,0),(1,2) Docodyo ot Jad 2EWBDLH woorr &3 DOV e

Options :
1.9 1
2. % 2
3.%3

4. % 4

Question Number : 138 Question Id : 2099632223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, aﬁ"é&){'a{:ﬁj 3"{1}%@



. : . : 3.
The lme passing through the point (-2, —3) with slope SIS

Docoi (2, -3) thoee e = arere o 26¥Ea

Options :

1. %1

Question Number : 139 Question Id : 2099632224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

DE0%, eaﬂéibéotb .5‘“6.{13%?5@



The slope of the line perpendicular to the straight line

VBr+y-2)+2y-x)-5=0is

V3049 -2) 420y —x) = 5= 0 03 2668 % woror dod 26¢3D o

(1) -7+43
Q) 7+43
() 7-43
(4) -7-4y3

Options :

Question Number : 140 Question Id : 2099632225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

D&%, asﬂéméodj &mgéa



The equation of the straight line passing through the points (5,0) and (2,3) is

Docdoidyen (5,0) 280k (2,3) © ot Sk wEwdar HE6eo

Sub-Section Number : 3
Sub-Section Id : 209963243
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 141 Question Id : 2099632226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability
SEELCLES &mgé@



If the arithmetic mean of 73, 85,63,x + 1,92 1s 75, then x =

73,85,63,x + 1,92 © @860 75 od, X =

Question Number : 142 Question Id : 2099632227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability
ROP(ETR) aomgé@



The arithmetic mean of 15 observations 1s 62. If the mean of first 8 observations 1

60 while that of last 8 observations is 63. then the 8% observation is

15 HB0de woémdsmo 62. TS Ads 8 DKL mcﬁéaﬁ;e 60 5T 098
8 HBF0IL ek 65 oS, 8 & HBIVD

-1 O
- <

Question Number : 143 Question Id : 2099632228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

R0aT(ST°R aomgé@



The arithmetic mean of the squares of first 35 natural numbers is

2068 35 D ?ooajlgv ;5?9.) woém%mo

4. % 4

Question Number : 144 Question Id : 2099632229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

SEELEEERS bomgé@



Median of the following grouped data is

306 384y SeroTAS Qs

Class mterval | 0-10 | 10-20 | 20—-30 | 30-40 40-50
333 evodhdo

Frequency 10 15 20 25 10
i DR

Options :

1.9 1

Question Number : 145 Question Id : 2099632230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

R0aT(ST°R &mgé@



In a data it is observed that the numbers 4, 9. 25, 36, 49 appeared respectively 17,

37. 101, 145, 197 times. Then the median of the data 1s

w8 Sepogod’ Dofen 4,9, 25, 36, 49 0 S 17, 37, 101, 145, 197 ¢
orbad0eraidn) (o & dEroto ahog), dcfide

(1) 25
(2) 49
(3) 36
(4) 9
Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 146 Question Id : 2099632231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

SEELCLES &mgé@



If the mode of the observations 5,8, 10,7,9,15,2,7,5,3,8,4,2,7,8,6,x 1s 8,
then x =

58,10,7,9,15,2,7,5,3,8,4,2,7,8,6,x ® ersmwso 8 eond, x =

St et Mt M
-1

Question Number : 147 Question Id : 2099632232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

ROP(ETR) aomgé@



The mode of the following distribution is

308 DFRTAS TP

5-717-919-11

]

fad
1

n

Class interval | 1-:
G evochto

Frequency 7|1 8|2 |2 1
s B0

(1) 3.285
(2) 3.825
(3) 3.625
(4) 3.365

Options :

1.1

4. % 4

Question Number : 148 Question Id : 2099632233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

SEELEEERS bomgé@



If two dice are thrown. then the probability that difference of numbers appeared on

them s 3. 18

Gott) QLR DBRDE. 8 Swarep o3p(o Bt 3 Ak AR Dowr e

Options :

1.1

4. % 4

Question Number : 149 Question Id : 2099632234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

SEELEEERS bomgé@



The probability of choosing two distinct numbers randomly from the

set {1,2,3,. . .,40} so that each of them 1s divisible by 3 is

(123,... ., 40} & 523 dood oy dorr Bixd Botd o’ 936 33
AodEN0E DN ‘{ooe,rb]ge‘.@

g ——
[—
R

(=T I

e | oo =]
ml"“

—
=
S
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4. 4

Question Number : 150 Question Id : 2099632235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

SEEL LS &mgé@



Suppose a and b are positive integers such that a + b = 7. If such a pair (a, b) is

chosen randomly, then the probability that b = 2 1s

G heoa+h=7 8 & 06 3N Tosw w80d. merol) wl aforfyo (a, b)
& aﬁrdﬁfw .Dm;léooé, oS’ b =2 woﬁasoda& '{ooa;“béeﬁ

1
1) -
6
@ L
12
7 1
) -
3
N 1
4 -
4
Options :
1.1
2. % 2
3.%3
4, % 4
Communication Ability
SectionId: 20996333
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50

Enable Mark as Answered Mark for Review and Yes



Clear Response:

Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 209963244
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 151 Question Id : 2099632236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

One who demonstrates courage or fearlessness 1sa/an .

1) ntrovert

(

(2) egoist
(3) gallant
(

4)  simpleton

Question Number : 152 Question Id : 2099632237 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings

The master gifted a house to his worker m appreciation of his

(I) ntegrity
(2)  coldness
(3)  hostility

(4) lazmess

Options :

Question Number : 153 Question Id : 2099632238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings



He had strange habits. He alienated himself from the public because of his

1) cleverness
2) commonness
3) sympathies

4) 1diosyncrastes

Options:

Question Number : 154 Question Id : 2099632239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings



When Rapu listened to the heart-rending story of the old man, he felt

(1)  empathetic
(2)  emphatic
(3)  empowered

(4)  enamoured

Options :

1.1

4. % 4

Question Number : 155 Question Id : 2099632240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Meanings



A score of my classmates attended the meeting.

4) fifty
Options :
1.9 1
2. % 2
3. % 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 209963245
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 156 Question Id : 2099632241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Synonyms and Antonyms



The synonym of ‘authentic’

[)  unique
2) replica
3)  model

4)  genuine

Question Number : 157 Question Id : 2099632242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms



The synonym of ‘regenerate’

(1) revisit
(2) retrace
(3) revive
(4) review

Options :

1. %1

2. % 2

3.3

4, % 4

Question Number : 158 Question Id : 2099632243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms



The synonym of merchandise

(1) service
(2) disservice
(3) ownership
(4) commodities
Options::
1. %1
2. % 2
3.% 3
4,9 4

Question Number : 159 Question Id : 2099632244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms



The antonym of ‘antagonism’

(1) friendship
(2) resentment
(3) jealousy
(4)  hostlity

Options :

1.9 1

2. %2

3.%3

4. % 4

Question Number : 160 Question Id : 2099632245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms



Synonym of ‘guard’

protect

I~

subdue

move

D
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Options :

1.41

Sub-Section Number : 3
Sub-Section Id : 209963246
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 161 Question Id : 2099632246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



[ have been waiting for the bus Spm.

(1) for
(2) smce
(3)  from
(4) at

Question Number : 162 Question Id : 2099632247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



They eagerly looked forward to the movie on the big screen.

(1) watch
(2) watching
(3) have watched

(4)  had watched

Options :

Question Number : 163 Question Id : 2099632248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



The pilot likes to alone,

Question Number : 164 Question Id : 2099632249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



They [tving m this flat for ten years.

(1) had been
(2)  has been
(3) have been

(4)  were

3.3

4, % 4

Question Number : 165 Question Id : 2099632250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Verb (Tense & Voice)



Passtve voice for “He gave a present.”

) Apresent was given by him.

(1)
(2) Anpresent had been given by him.
(3) Apresent gave him,

4)

4) He had been given a present.

Options :

Sub-Section Number : 4
Sub-Section Id : 209963247
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 166 Question Id : 2099632251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



The students their teacher as ther role model.

(1) look down upon
(2)  look after
(3)  look away

(4)  lookupto

Options :

Question Number : 167 Question Id : 2099632252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



She paid the bill and the hotel room and drove towards the atrport

(1) checked n
(2) checked out of
(3) checked up

(4) checked away

Options :

4. % 4

Question Number : 168 Question Id : 2099632253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



He says he can get a first class: but reading between the lines T don't think he can.

The underlmed 1diom mnfers.

(1) He dogs not say what he mtended
(2) He says what he meant
(3) He says affer reading the lmes m the book

(4) He s sure to get a first clas

Options:

Question Number : 169 Question Id : 2099632254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



The thief a locked house.
I) brokeup

(

(2) broke out
(3) broke mto
(

4)  broke over

Options :
1. %1
2. % 2
3.3

4. % 4

Question Number : 170 Question Id : 2099632255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



You have to the delay.

(1) account for
(2) account at
(3) account on
(4) account In

Options :

Sub-Section Number : 5
Sub-Section Id : 209963248
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 171 Question Id : 2099632256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions



The Prmctpal of the school laid a untform policy for all the students,

Question Number : 172 Question Id : 2099632257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions



He tried to cope the situation, but failed.

(1) upwith
(2) with
(3) onwith
(4) upon

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 173 Question Id : 2099632258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Atrticles and Propositions



He accomplished the task dint of sheer hard work.

Question Number : 174 Question Id : 2099632259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Atrticles and Propositions



The hunter spotted a deer standing the two trees.

(I) among
(2) on
(3) between

(4)  with

4, % 4

Question Number : 175 Question Id : 2099632260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions



The Ganges 15 most sacred river

Sub-Section Number : 6
Sub-Section Id : 209963249
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 176 Question Id : 2099632261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology



MIPS stands for

(1) Million Instructions Per Second
(2) Multiple Instructions Per Second
(3) More Instructions Processing Speed
(4) Million Innovations Per Second
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 177 Question Id : 2099632262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology



HTML stands for

Hyper Text Marker Language

Hyper Text Makeup Language
Hyper Text Markup Language
Hyper Text Marked Language

Options :

1. %1

Question Number : 178 Question Id : 2099632263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology



Using a person's unique characteristics to verify his 1dentity mcluding finger print

scanning, efc.

(I) Attendance Register
(2) Punchmg

(3) Biometric Authentication
(

4) Blockcham

3.3

4. % 4

Question Number : 179 Question Id : 2099632264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology



15 a network security device that prevents unauthorized access to an
operating system.

() Frrewall

(2) Firefence

(3)  Fureball

(4)  Furefox
Options :

1.9 1

Question Number : 180 Question Id : 2099632265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Computer Terminology



Megabyte 1s equal to

(1) 1048576 bytes
(2) 1084572 bytes
(3) 1184576 bytes
(4) 1048572 bytes

Options:

Sub-Section Number : 7
Sub-Section Id : 209963250
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 181 Question Id : 2099632266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Business Terminology



An mndividual or a company creating an origimal design can apply for a copyright
or trademark on the designs. It 15 termed as right.

(I) Independent patent
(2) Intelligible property
(3)  Intellectual property

(4)  Intelligent property

Options :

1. %1

Question Number : 182 Question Id : 2099632267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Business Terminology



report 18 ritten by sentors of a company on existing employees
who are due for promotion.

(1) Performance

(2)  Standing commuttee

(3) Formal

(4)  Problem solving
Options :

1.1

4. % 4

Question Number : 183 Question Id : 2099632268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Business Terminology



ATM means

Options :

1.1

4. % 4

Question Number : 184 Question Id : 2099632269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Business Terminology



When two compantes within the same industry and a the same stage in
production merge together, 1t 1

(1)  vertical merger
(2) conglomerate merger
(3)  congeneric merger

(4)  horizontal merger

Options :

Question Number : 185 Question Id : 2099632270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Business Terminology



The act of invalidating specific currency

(1) Monetization

(2) Validization

(3) Adaptation

(4) Demonitization
Options :
1. %1
2. % 2
3.%3
4.9 4
Sub-Section Number : 8
Sub-Section Id : 209963251
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 2099632271 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (186 to 190)

SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



We crossed the stream on a log and then another log and on the other side, half way
up the hillside, there was a deeply worn game trail that graded along the bank under
the heavily leafed branches of the trees. We went along quite fast, but walking
carefully, and below us, now, the stream bed was covered solidly with foliage. It
was stil early i the morning but the breeze was rising and the leaves stirred over
our heads. We crossed one ravine that came down to the stream, going mto the thick
bush to be out of sight and stooping as we crossed behind trees i the small open
place, then, using the shoulder of the ravine as protection, we climbed so that we
might get high up the hullside above the buffalo and work down to them. We stopped
in the shelter of the nidge, me sweatimg heavily and frxmg a handkerchief mside the
sweatband of my Stetson, and sent Droop ahead to look. He came back to say they
were gone. From above, we could see nothing of them, so we cut across the ravine
and the hullside thinking we might intercept them on thetr way down mto the river
bed. The next hullside had been burned and at the bottom of the hull there was a
burned area of bush. In the ash dust were the tracks of the buffalo as they came
down and mto the thick jungle of the stream bed. Here 1t was too overgrown and
there were too many vines to follow them. There were no tracks gomg down the
streamn so we knew they were down 1n the part of the stream bed we had looked
down on from the game tral.

Sub questions

Question Number : 186 Question Id : 2099632272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



The word that means ‘thick greenery” in the passage 1s

(1) ravine
(2) track
(3) foliage
(4)  vmes

Options :

1. %1

2. % 2

3.3

4, % 4

Question Number : 187 Question Id : 2099632273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



They clmbed up the hillside by safeguarding themselves behind the steep sides of
the

(1) ravime
(2) stream
(3) nver

(4) track

Options :

1.1

4. % 4

Question Number : 188 Question Id : 2099632274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1



When Droop says, “they were gone,” he 15 referring to

1) hunters

(1)
(2) poachers
(3)

3) buffaloes

(4) bushrangers
Options :

1. %1

Question Number : 189 Question Id : 2099632275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1

They were prevented from pursuing the tracks by

(1) ash dust
(2) stream
(3) il side
(4) vines

Options :



Question Number : 190 Question Id : 2099632276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-1

The word im the passage which means, “a path created by the repeated movement
of wildlife through an area”

(1) stream
(2)  game trail
(3)  bank
(4) ndge

Options :

4, % 4
Sub-Section Number : 9

Sub-Section Id : 209963252



Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 2099632277 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (191 to 195)

SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2
Lessons might have been a pleasure. They never were, or rather, only the Danish
ones. But i chuldhood, and during the first years of bovhood they were fertilising.
As a boy they hung over me like a dread compulston; yet the compulsion was
benefictal. It was only when [ was almost fourteen that I began mwardly to rebel
against the time which was wasted. that the stupidest and laziest of the boys might
be enabled to keep up with the mdustrious and intelligent. There was too much
consideration shown towards those who would not work or could not understand.
And from the trme T was stxteen, school was my despair. I had done with 1t all, was
beyond 1t all, was too matured to submit to the routine of lessons; my mellectual
pulses no longer beat within the limts of school. What absorbed my tnterest was
the endeavour to become master of the Danish language m prose and verse, and
musings over the mystery of existence. In school, I most often threw up the sponge
entirely, and laid my head on my arms that I might neither see nor hear what was

g01ng on around me.

Sub questions



Question Number : 191 Question Id : 2099632278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2

What does the author mean when he says, “during the first years of boyhood they
were fertilising™

1) Lessons learnt during the first years of boyhood are enriching

2)  Lessons learnt during the first years of boyhood are forgotten.

(
(
(3)  Lessons learnt during the first vears of boyhood are painful.
(

4)  Lessons learnt during the first vears of boyhood are awesome.

Options :

4. % 4

Question Number : 192 Question Id : 2099632279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2



Consideration was shown to those students who could not___

(1) compete.
(2) comprehend.
(3) play.
(4) communicate.
Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 193 Question Id : 2099632280 Question Type : MCQ Option Shuffling :
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

According to the author, school was his

(1) hopelessness.
(2) pleasure.

(3) fear

(4) pam.

Options :



1.9 1

Question Number : 194 Question Id : 2099632281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

The author did not appreciate the school’s curriculum as it was

(1) exhaustive.
(2) severe.
(3) mtense.
(4)  lmmted.
Options :
1. %1
2. % 2
3.% 3
4. 4

Question Number : 195 Question Id : 2099632282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-2

The author wanted to absorb himself in the thoughts on

books.

physical nature.

mystery of existence.

L

— g N e
e . i

evolution.

Options :

3.3

4. % 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

10
209963253
No

null

Question Id : 2099632283 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (196 to 200)

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3



The 1-pad 15 the new pactier for babies and toddlers. Young school aged children
read stortes on smart phones. A neuro-sciences study mdicates, the acquisition of
literacy necessitated a new ctreuit 1n our species bratn more than 6000 years ago.
That cireuit evolved from a very simple mechanism for decoding based
information, o the present, highly elaborated reading bram. Research m many
pats of the world 15 now cautious that each of these essential ‘deep reading’
processes may be under threat as we move into digital-based modes of reading.
When we tnnovate, we 1gnore what we disrupt or diminish while mnovatmg. Mark
Edmundson, a scholar and teacher, describes how college students no longer have
the patience to read longer, denser, more difficult texts. There 15 a potential
nabilty of large numbers of students to read with a critical analysis to

comprehend the complexity of thought and argument found 1n more demanding

feXts.

Sub questions

Question Number : 196 Question Id : 2099632284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-3



What does the acquisition of literacy require?
A circuit mn species brain.

(1)

(2)  An analogical circuit in species brain.
(3) A digital circuit in species brain.

(4)

A machine in species brain.

4. % 4

Question Number : 197 Question Id : 2099632285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3



What 1s the threat with digital reading?

Reading process

)
(2) Listening process
(3) Writing process
(4) Speaking process
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 198 Question Id : 2099632286 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

:No



What happens with technological mnovation in reading?

(1) Technological mnovation has led to a mcrease in print reading.
(2) We 1gnore what we disrupt or diminish.
(3) Encouraging more young people to mvolve i mnovation.

(4) Dufference between developing products and developmg 1deas.

Options :

4. % 4

Question Number : 199 Question Id : 2099632287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Comprehension Passage-3



What 15 the attitude of college students according to Mark Edmundson?

(I) Changing the way he teaches.
(2) Avoidmg reading difficult texts.
(3) Unconcerned about learning.

(4) Interest in reading texts.

Options :

Question Number : 200 Question Id : 2099632288 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

:No



What 15 the passage about?

(1) Deep Reading Vs Digital based Reading.

b
;

J

)
) Hidden effects of use of technology
) Encouraging use of technology.

)

(4) Reduction m reading

Options :
1.91
2. %2
3.%3

4. % 4



